HENEREREHES
SHI3F11H28 (X)

Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
HE 238 N7~ 177.8 163 41
<t/ 1,493.4 210 30
B X 139.6 711 542
RAAIH LA 39.3 500 250
JUH LA 195.4 1,380 80
LEHLA 215.7 473 20
FHELS LA 455.2 1,284 111
=FHLA 470.4 360 20
<AOLA 429.7 720 289
XA LA 26.5 950 50
55 51.0 160 20
VAXTY 540.6 1,500 39
Nt 36.6 696 221
FA A 226.5 181 61
TIAITAF A 310.1 280 20
F+77>39 3,187.2 561 21
HFHS 126.6 36 20
TISHATH 23.0 150 20
2= LAv i o) 31.9 190 50
HH=AHA 81.7 250 20
dEHAN 79.8 66 59
XA A 105.7 139 20

e

8,265.9




[f¥fa] (BT ¢ kg )

TRETRAE =V H =2 = 1B Z & M =
SE  23& aAXHET 926.5 829 20
sH= 66.9 6,109 109
R e . 17C/S
TH—5E 76.5 7,189 2,000 |5’
TYURSERE 37.8 369 181
2S5+ R 37.3 522 389
ZILAA T 1,757.8 510 288
ZILAA S5 2,160.0 4,440 1,500 f 432c/s
i : c/s
UAH 3,239.8 520 51
UL 158 270.0 4,006 1,800 ﬁ 24c/s
1 c/s
=X47 404.2 750 240
T+E47 5,578.8 520 142

a5t 22,821.5




€:E3::) (BT : kg )
SRR migE ® 2 5 1B Z B fm &
BEERXFRIE 768 |TJU 49.7 103 20
B X 168.5 1,350 100
_~ 59.9 319 20
N 32.8 729 350
HFHS 44.6 45 20
>0OX/)VUl 112.8 1,850 1,200
L ADE 1,099.4 780 489
AXF 551.9 700 23
JdEHAN 81.8 69 59
SFIA 347.1 1,820 450
TRORD 204.9 1,200 51
JdF 23.6 920 100
< ~OAA 24.1 189 20
Y= 146.0 1,011 150
L 28 JdEHAN 27.3 79
Ui 38 50> 152.2 571 411
Bl 5% Ry FHA 1,104.0 380 220
2]D 42 JU 45.3 120 20
NC 44& EXTYRS 408.9 171 60
INH S 4,684.8




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
K 232 =X47 57.3 730 700
BEREE 758 |[TJU 23.4 100
E=5 X 1,444.2 2,000 700
A2HLA 72.9 1,200 500
<AL A 21.0 4,700 300
I54 36.3 1,300 400
XXF 529.7 750 200
NSO 36.4 2,500 800
JIF 28.8 1,000 400
iEHE 152 NSO 1,150.8 3,100 1,000
#D 422 JU 54.3 200 100
E=5X 478.9 2,200 800
T 44E <A 2,157.1 1,500 900
= 6,091.1




